gr 8 u1 sqre day 14 Pythagorean Theorem (day 2).notebook November 16, 2017

30 Misging Are

_ b= 50
2D Sde Legt’ﬁ = {sp

(‘f\\s
)\o+3(a G2

b= 5
Cde Leﬁth =152

(‘f\\ssm,g B

160 - b
L

= b4
Sde Lenth= %’g )

@ MNisgin Prea.
» 72 ﬁ‘% =23
&

S -oLe Legat‘q 2%

V)




gr 8 u1 sqre day 14 Pythagorean Theorem (day 2).notebook November 16, 2017

A rectangular pencil case has dimensions 10 cm by 6 cm. What is the
longest pencil that can fit in the pencil case?
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# 5(a,b), 6(c,d) ,7(a,b), 8(a,b), 9(a) 10, yq 13(a,b)
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